ol

A
™
R
™

© -3.141592

O

© 04272727 ---

108
2 x 32

10
2X5X7T

3)®,®,©

@ 06,0

ORONE)

®@6,®

ONCNCNCE)

OF 4 4 4k <k < < < 4
P
<F W o) T ) B el ol o
o oF oF < oF {0 ok of <
FPQO@®OD®Q O




RS o 7RSI} E] A Ao DS a o e ot
ik
@1 @ 2 3)3 @ 4 ® 5
Z O B} A A
ey JHRRRST w
a & 3°]o]oF T}




a2 224 02138 292 AAs Aot oF
7 &2 A2

x=0.21313---

(@ )x=21313-+ -----. ®

(@ )x=2131313-- -----. ©

OA @= s
(® x=( @)
cx=( ® )

®

@ 10000 100 3 999
211
211 it
® o 2l

B

x=0.21313---
10x = 2.1313--- ------ @)
1000x = 213.1313--- ------ ©
O G2 w72 wE
990x = 211
211
*~ 990




2

@ 12

® 13

A, a+b+c 9 FHe?

(@)14

® 15

xlOZQa

6—2a=2
2b =4
c=10

xC

y2b26 - y4Z2

La=2

Lb=2

La+b+c=14




5. 332819 Hoto] F2 L 39 AFAFLE UEhd 227

@ 33+81 @ 3x81 @37
@ (33)2 ® (33)25

33 x81 =33x3*=37




6.

o S At

® 6a® +2ab =

@ (x?)? =
® (=x%)?

At &

33
b

= (2xy3) = -

1
(2)6)3: 6

5

3

B

® (x2)3

@ 6a® + 2ab =

® (—x%y)?

3a?

+ (2%%) = -

+(=2x%)3 = -

0
2







8. of® Aol 26 —x 4 1& Hstolol & 218 Rtel MIAEY 1 2x
7t =giet. A At A

D x2+x+1 @ x%-2x @ 3x2-2x+1

@)3x> +2 ® -3x2-3x+1

>
|
S
=
(V)
|
=
o
=
|
|
=
[ V)
A
[\
=




Of R, 2] ol 5 w5t ER7F 10 9] A5AlE &) 2

7V Ae AA5E Totol

4

I

3 3 3x52 75 75

40  2x5 28x5x52 105 1000




10. J&E],_ 28 7y 28 4L uyg
el 9] S49] 47t gt ¢

T

gl
Mol 1 HAE ERhedE RIS of £otuke] o] SAj] 7
UpERd Aolct)

vV V
0x
iy
,y
2L

=0.333..- =03, £q0it]= 1 Ho|BEZ &
=0.666--- = 0.6, =& 1 o|B2 g% o= i,

Hatd fwelsh E el e 3ol

wlw Wl =




11. 27x22=640]1125+2° =2 A o, x+y 2] gte?

® 6 @7 ® 8 @9 G

272 — 96 o]|BF x =4 0|1
25425 =9x25=26=90]R&2 y=¢6o0|L}.
A x+y =446 =10 °|t}.







™~
|
ut
=
_"_
(=2}
=
no
~—
|
w
—~
[\
=
no
J’_
w
=
|
N

@D 4-5x+6x2 —6x% —9x+ 12 = —14x + 16 (¥AH2])
1 1
@ (7——) +(—+8> =15
X X
®54+6x+x2+5-6x—x>=10
1 _
® 222 4 105 (21214)

® x (174




@
@)
® 2x(3x—6) = 6x% - 6x

@)3x(2x = 3y) — 2y(x +y) = 6x% — 11xy — 2y?

@—x(x—y+2) +3y(2x+y+4) = —x2 + Txy - 2x + 3y + 12y

® —(a-5b) = —a+5b
® 2x(3x - 6) = 6x% — 12x




da?p? =[] _

T —2a+4ab QW[ [t EojZ gure 4]

@®© -8a%p? @ -8a*p? ® -8a4%p?

@ 8a3b? (@)841%3

~&B

4a*h* -0
—2ab?

4a’b? — A = —2ab*(-2a + 4ab)

A = 4a*b? + 2ab*(—2a + 4ab)

= 4a’b? + 8a’b> — 4a*b* = 8a’b?

= —2a + 4ab oA Hl ko] 5012 A& A & F2




16. p=a(l+nr) & 1] B Ao Lyehfolzt,
=

>
|> o=

l_P
oH « = — —nr
a

8

a(l+ nr)

|
~
+
S
~

[SI SIS LS TS
|
S
~
|




17. 2(2x—y) = 34+ x+y L W, 2(x—2y) +y-25 xof T3+ A o= jepd
PR
@—x+1 @ x-2 ® 2x-3
@ 2x—-4 ® 3x-5

B ~

22x-y)=3+x+y

dx-2y=3+x+y

Jy=3x-3

Ly=x—-1

o171 4]0] ejltel

2x-2y) +y-2=2{x-2(x-1)} + (x-1) -2
=2(x-2x+2)+(x-1)-2
=2(=x+2)+x-3
=-2x+4+x-3
=-—x+1




i g prm derioe o, a4 ol 2 0 A0 4
=7
@ 2 @ 4 ® 5 @ 7 ®)s

53
— = 4.818181....
11 8

27+2=13---1 °|B2 &4 o 27 WA A2 9] & 8 o|tt




O A& W55k 0 o] obd =22t a,b,¢,d, e ©] T& F5HH?

abcde — ab _ 24301

O-abcde = —54560 = 99900

@9 @16 ® 24 @ 28 ® 31

B

24301
0.abcde = 30

99900
ut2kA] 24301 = abede — 24
abcde = 24301 + 24
.. abcde = 24325
La+b+c+d+e=16

o|B g gp = 24 o[t}




1 2 5 : 5
§ <0a< o 5 WSSk A% o o gef T2 Fotelet
> =

D "= 20

9 < 5a < 30, §<as6

c. a:2’ 3, 4, 5,6




3x°y
2,12 3,2 1o
(=3x%y)* =+ 22 - 2x°y XX—QQJ%AS?
@D 3xy? @ -3x3y
<@>4x2 ® 4x%y

@ —4x?




2 9.2
22. 1:1:1:3%]@1,ﬂ94%}:%7
Xy Xy
13 12 7 16 17

@—3 ®_E @§ @_3 ©_§

1 1

_:_:1;3,§:_0]E§x=3y°]‘:}

Xy X oy

X




B 22 p02 e E 9457} BT 7]okR SR Uehi e

1
g"] A, a+ b9 g2 Fotolet. (B a, b+ 100 ©]5Ho] A4

a a 7

180 22x5x3% b
ae 32 x 79 vj4
a=63, b=20
sa+b=283




24. =244, ag“]%l-ﬁ
> E:
65
>zg: 2
a9+l9 alS;_l a18+1
o =] = a
ag_ig = 11:_]'01 o]'l?j a189_1 al8 — 1
a8 = (a3)® =26 = 64
kA ¢l® = 64 S |45t A9 kS LotH
(ZM)_a18+1_64+1_§
= a18—1_64—1_63

ag-i-

T-5toet,




rmm ?_T—:nL:rLA77H—JH”']L
r 3
{ 7TX(§) } :—7rr o]

et 250l 7rmm A 2 & 1719 e 2 Fo

A 49 7\ o] 74A T} Zt

] rmm <1
T 7€ 7R T 2R B39 72 wjo]B =, Z]F°] Trmm
¢ F 75149 7142 AE°l rmm ¢ 5 & 7= 9=




